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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
Paper 1
Time Allowed : 1:41- Hours] [Maximum Marks : 100

Note — The paper contains sixty (80) multiple choice questions. Out of which, the
candidates are required to attempt 50 questions only. All questions carry

two (2) marks each.

1. ‘Red Data Book’ provides data on :

(A) Red Sea (B) Photosynthesis

(C) Population (D) Endangered species
2. Acid rains occur due to atmospheric pollution of :

(A) 80, (BY NH,

(C) COy (D) Hy0O vapours

3. “Taj Mahal is threatened due to the effect of :

(A) Chlorine (B} Sulphur dioxide
(C) Hydrogen (D) Oxygen

4. Most hazardous metal pollutant of automobile exhaust is :
(A) Lead (B) Mercury
(C) Copper (D) Cadmium

T.B.C. ;: 77115/ET—B 2



GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE

EEEEVERS|
g 1% HU2] [quris : 100

v - —35 v-v 1 WIS (60) TRAFHEE W9 B TE WA o (2) ¥F W 8 e
50 wvdl % W fawes g gw I i3

1. ‘=2 as foud an d e wWE W 8 7
(A) @ | (B) W HEEHm
(C) =i\ F&m (D) Hwar= =g

2. o Ty fHas ammEmiE wmm | B § 2
(&) 80, (B) NH,
(C) CO, (D) H,O =&y

3. e H fFEE wwm W FHe 7 2
(A) FAE (B) ¥Rl ZEERS
(C) wIsgT (D) St

4. e FEA 9 e el 3§ s wmas Uy W1ue e 8 7
(A) &= (i) (B) wmI
(C) & (D) Hefam

T.B.C. : TT15/ET—B 3 P.T.O.



5, Which is not a greenhouse gas ?

(A) Chlorofluorocarbon (B) Carbon dioxide
(C) Methane (D) Hydrogen
6. Jaundice is a disease of :
(A) Kidney (B) Liver
(C) Pancreas (D) Duodenum

7. Which of the following gases produces ozone “holes” in the stratosphere ?

(A) Benzopyrene (B) Hydrocarbons

(C) Chlorofluorocarbons (1) UV radiation

8. The first National Park to be established in India is :

(A) Gir (B) Sunderbans

(C) Nilgiris (D) Jim Corbett

T.B.C. : 7715/ET—B 4



5. Treafafea 4 4 %19 i & & 2

(A) FAFAREEA (B) A ZioelaaEs
(C) e (D) wEgreA
6.  diferm M ¥ :
(A) 55 F (B) =Fd
(C) =g = (D) gfemm =

7. frafafeas § F I e geagmves § aieie e’ soe s B2
(A) =i (B) TEe=EA
(C) FEAITHARIFREA ‘(D)UVfarhrm

] b

8. YRa # vgen Tfga Uy SwE s ¥ 2

(A) fr (B) g=EA

(C) Hreafiry (D) fam =&z

T.B.C. : 7715/ET—B 5 P.T.O.



9. A man is standing on a boat in still water. If he walks towards the shore,

the boat will ;

(A) Move away from the shore (B) Remain stationary

{C) Move towards the shore (D) Sink

10. Momentum is a measure of :

(A) Weight (B) Mass

(C) Mass and velocity (D) Velocity

11.  Screen behind the eye lens is called the :

(A) Iris (B) Ciliary muscle

(C) Retina (D) Pupil

12. In Lok Sabha elections, the election campaign stops hours before polling

time :
(A) 72 (B) 48
(C) 24 (D) 36

T.B.C. : 77/15/ET—B 6



9. TF WIW T TH W@ F uH N9 F w1 §) Ak 9w @z w5t oy gewn &

@ A=
(A) w= | ¥ wort (B) & = @< Wt
(C) @2 #H 2 =er (D) Fa =

10. Ha7 Ty we & 2
(A) X . (B) w=a9H
(C) z=m ik am (D) am
1. o9 3 G @ 5o ww wm § 0

(A) gfErtE : (B) wamrfast Teft

(©) 3fevem oy (D) R

12. % W g6 § AW TER, WeeE 999 3 ey 9 ted 0% frm st ¥ 7

(A) 72 (B) 48

(C) 24 - (D) 36

T.B.C. : 7T715/ET—B 7 P.T.O.



13. What is the chief source of political power in India ?
(A) People
(B) Constitution
(C) Parliament
(D) Parliament and State Legislature

14. A child offender who commits any crime can be tried and prosecuted under
the Juvenile Justice (Care and Protection of Children) Act, 2000 only when

his age is below :

(A) 14 years (B) 12 years

(C) 18 years (D) 7 years
15. Liability is :

{A) Subjection to legal obliga,;iog (B) Responsibility

(C) Duty (D) None of these
16. Indian nationality can be acquired by all but one :

(A) Birth (B) Marriage

(C) Naturalisation (D) Purchase of immovable property

T.B.C. : 7715/ET—B 8



13.

14.

15.

16.

WA H USaw Ve F1 OqEg g 99 § 7

(A) wm

(B) wfaum

(C) T&’

D) w8 I vy faufas

TH A Wew, A w8 syoy fFa @, 98 feein =m (S g ik
) Ffufam 2000 % swfa oot siten ok geem 9@ W 9w ¥ S
IEHT A :

(A) 14 7d § %1 A B) 12 7d 4 59 A
(C) 18 =¥ J ®9 A M 7 9 @ F9 A
=R ?

(A) T ST H N (B) e

(C) =u=a ‘(D)'s’lﬁﬁ?ﬁ‘e'?ﬁ

Frefafad 8 | feg @ %1 9igF, 39 o 4 9rdg e & 1 g@d w2
(A) w9 (B) faam®

(C) yrFfamm (D) 2r=a o F1 Ghest

T.B.C. : T7115/ET—B 9 P.T.O.



17. The largest planet in solar system is :

(A) Earth (B) Jupiter

(C) Venus (D) Mercury

18. What is the normal temperature of the human body ?

(A) 36.80°C (B) 98.60°C

(C) 49.80°C (D) 39.0°C

19. A person with which of the following blood groups is considered as a

universal donor ?

(A) O (B) AB

(C) A « 9 M B

20. In one minute, heartbeats approximately :

(A) 60 times (B) 62 times

(C) 72 times (D) 82 times

T.B.C. : 77/15/ET—B 10



17.

18.

19.

20.

AR 7= § wad 931 TE A9 ¢ 7

(A) =it (B) Feeta
(C) = (D) 34

U K F GRS areee fEa g g 2

(A) 36.80°C (B) 98.60°C

(C) 49.80°C (D) 39.0°C
ﬁwﬁf&aﬁ.ﬁmmwmwﬁammmm%?
(A) O | (B) AB

C) A (D) B

T e 4 z=3 fea an um% ?

(A) 60 =1 (B) 62 &R

(C) 72 9R (D) 82 &R

T.B.C. : T7/15/ET—B 11 P.T.O.



Directions (Q. Nos, 21 and 22) :

In the following items, some parts of the sentence have been jumbled up.
You are required to rearrange these parts which are labelled P, @, R and

S to produce the correct sentence.

21. The visitor said that he saw people/P who shouted “long live labour unity"/Q

in the street/R when he started from home/S :
Which one of the following is the correct sequence ?
(A) P—Q—R—S (B) P—S—Q—R
(Cy S—P—R—Q (D) S—R—P—Q
22. She was bt;m at 10 am/P in India/Q in the year 1978/R on 18 August/S :
Which one of the following is the correct sequence ?

(A) P—Q—R—S (B) Q—P—S—R

<

(C) R—S—Q—P ; (D) S—R—P—Q
23. Square root of 625 is :

(A) 12 (B) 15

(C) 25 (D) 35

T.B.C. : 7715/ET—B 12



et (wvsr ¥=r 21 3k 22)

Faffad d s S I o gl A o H N F P, Q R3S =&

w9 H dfFa v ™ §, A wafen w1 @@ a9 wnn)

21. The visitor said that he saw people/P who shouted “long live labour unity”/Q

in the street/R when he started from home/S

& w9 @ B 2
(A) P—Q—R—S (B)
(C) S—P—R—Q (D)

P—S—Q—R

S—R—P—Q

22. She was born-at 10 a.m./P in India/Q in the year 1978/R on 18 August/S :

Hel % F ' 7
(A) P—Q—R—S (B)
(C) R—S—Q—P T

23, 625 @ Wige @@ @M ?

(A) 12 (B)
(C) 25 (D)
T.B.C. : 7715/ET—B 13

Q—P—S—R

S—R—P—Q

15

35
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24, Fill the next number in the series :

1, 4, 9, 16, 25, ........
(A) 81 (B) 30
(C) 36 (D) 49

25. Find out the odd figure :

(A) (B)

/\
(©) D) >< ><
. LV

26. How many triangles does the figure contain ?

(A) 10 (B) 11

(C) 6 (D) 12
T.B.C. : 7T7/15/ET—B 14



24. frofafes sgws § o @@ #3 we 2

1, 4,9 16,25, ...
(A) 81 (B) 30
(C) 36 (D) 49
25. Tauw smfa =1 wE=iAQ
(A) (B)

/\
(©) D) >< ><
V

26, A= @ A amsfa # ey faaw & 2

(A) 10 (B) 11
(C) 6 (D) 12
T.B.C. : TT/15/ET—B 15

P.T.O.



27. Which of the following is a prime number ?
(A) 19 (B) 20
(C) 21 (D) 22
Directions (Q. Nos. 28 to 30) :

Read the following data and use it for answering the questions that

follow (28 to 30) :

Four people A, B, C and D have together got Rs. 100 with them. A and B
have got as much as C and D put together. A has got more money than

B. C has half as money D has. A has Rs. 5 more than D.
28. Who has got the most money ?

(A) A (B) B

c) C | (D) Cannot be determined
29. How much does B have ?

(A) Rs. 11.60 (B) Rs, 13.50

(C) Rs. 32.30 (D) Rs, 10.30
T.B.C. : 77/15/ET—B 16



27. ffates 4 & 39 ™ v wem & 7
(A) 19 (B) 20
(C) 21 (D) 22
et (wvw dEm 28 | 30 7F) ¢

Fefafan siss = ofgw 3 == wam o &3 vl (28 280 7%) &1 W

T & fo wifag

R @, A, B, C 3 D % faerst |@ 100 ¥93 w3 501 A 3fn B 91 367 v
T FA FCMDT o guI AT B v 3w @1 C |1 D

% TW 1 o e A #1 D ¥ 5 wod afum R
28. fTwmw wag afyw Tod foq 2

(A) A (B) B

© C .”(D)ﬁﬂ?ﬁa?ﬁﬁwmm
29. B # f&A T3 i@ ?

(A) 11.60 % (B) 13.50 %.

(C) 382.30 =. D) 10.30 =.

TB.C. : TT15/ET—B 17 P.T.0.



30. Who has got the second biggest sum ?
(A) A (B) B
(C) C (D) D

31. In a certain code, BAD is written to YZW, SAID is written as HZRW. Then

LOVE will be written as :
(A) MRSO (B) OLEV
(C) WXMN (D) BRTP
32. If HIPLM is code of Delhi, QEHVEW is a code for :

(A) Mumbai (B) Nagpur

o

(C) Chennai (D) Kanpur

33. Rise and fall of the sea water at the surface in interval is called :

(A) tide (B) wave

(C) fiction (D) unbalance

T.B.C. : 77/15/ET—B 18



30. Tod zoft waQ @5t ww wa @ 2
(A) A (B) B
(C) C (D) D

31. T4l s fAfv=sm F2 4 BAD %1 YZW ¥ feman 7o, SAID =1 HZRW 3 femn

™ &8 LOVE =1 %8 femn sm@m ?
(A) MRSO (B) OLEV
(C) WXMN (D). BRTP

32. fg Delhia’i.ﬂmmHIPLMt?h.QEPWEWﬁ?mmm ?
(A) Mumbai | (B) Nagpur
(C) Chennai (D) Kanpur

33. UE IFOUG H WHZ A b dgA 3 HH BA R ¥ F@ S0 % 2
(A) wER-92T (B)

(C) Heu (D) IEgA

T.B.C. : 7715/ET—B 19 P.T.O.



34, If X is a number midway between 10 and 16 and Y is half of 78,

then Y/X :
(A) 2 (B) 3
(C) 4 D) 5

Directions (Q. Nos. 35 to 37) :

Choose appropriate word or words.

35. Anjana is hardly the young lady to do .....ccooeiciiiinninnnnnns to her husband.
(A) credit (B) harm
(C) damage . (D) reputation
88" DePODA ... oor0scernvsmesesryamnassinas someone.
(A) on o (B) with
(C) for (D) at
8T..  ABE ieiiamicinrrissianvilasnssa information.
(A) at (B) for
(C) of (D) with

T.B.C. : 7T7/15/ET—B 20



34 AR WA I6FAu F g g X TR 18 F e Y &, @ WX 3 -

(A) 2 (B)
(C) 4 (D)

Fdyr (wvm W@ 35 | 37 W) -

IGF V= G W= H g

35. Anjana is hardly the young lady t0 do ..cccocooevvvrvrrevecrninnnnn
(A) credit (B)
(C) damage (D)
36. Depend ......cccocovverecrnenne.. someone.
(A) on (B)
(C) for ()
SRt S Y——— information.
(A) at (B)
(C) of (D)
T.B.C. : 7T7/15/ET—B 21
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Directions (Q. Nos. 38 to 40) :

Answer the following questions on the basis of statements given below :

There are five cars for sale. Maruti is cheaper than Tata but costlier than

Daewoo. Suzuki is the costliest.

Hyundai is cheaper than Tata but costlier than Maruti.

38. If the cars are arranged in order of their prices, which car would be in

middle 7
{A) Daewoo (B) Suzuki
(C) Maruti (D) Hyundai

39. Which is the second costliest car ?
(A) Suzuki (B) Tata
(C) Hyundai . (D) Maruti
40. Which car is costlier than Hyundai but cheaper than Suzuki ?
(A) Maruti (B) Suzuki
(C) Tata (D) Daewoo

T.B.C. : TTN5/ET—B 22



fEyr (wes d@@=AT 38 | 40 %) :

39.

40.

Frefafas wodl 8 smm W e B3 1 wed w3 A

ufs =X foma & fog &1 #wfa, == @ st § g feg @ Wl 3 wOE wER
wE ¥

7SS, 21 & gEh ¥ v At A wEh B

#fg wR F1 TR FEG F w9 4 gateym G s, & F=EE s wey § et 2
(a) feg (B) H#1

(C) = (D) wged

FHITH FW TE H G TEN FRE 2

(A) HIH (B) e

(C) =g=3 (D) wrefa

FE F wgsE F wen ¥ urg goet & O ¥ o7

(A) WrEfa (B) |

(C) == M) feg

T.B.C. : TT15/ET—B 23 P.T.O.



Directions (Q. Nos. 41 to 45) :

Read the following passage carefully and answer the questions 41 to 45 by

marking the correct option :

The interest in conservation is not a sentimental one, but the rediscovery
of a truth well known to our ancient sages. The Indian tradition teaches
us that all forms of life — human, animals and plants, are so closely
interlinked that disturbance in one gives rise to imbalance in the other.
Interestingly, the work making its entry in almost every discussion on
environment is ‘sustainable’ — a term used by Brundtland Commission
(1983), which mean ‘meeting the needs of the present generation without
compromising the nee&s of the future generation’. The three pillars of
sustainable development, thus, were identified as ‘care and respect for people,
Planet and Prosperity (commercial activities). Sustainable development in
India now encompasses a variety of schemes in social, technological,
environmental and human resources segment. As a result, it has caught

the attention of central-state governments and also public-private sectors.

T.B.C. : 77/15/ET—B 24



T (wvs W@ 41 | 45 )

Frefafag S &) gEur @ ey it wd faeey 999 g0 wvs ¥ 41 9 45

% & IW dfan .

Wﬁmﬁmm?ﬁ%m‘ﬁmaﬁgﬂ:mm%ﬁ-
st W oed e W g add v g oaw femndt @ OfE SfeR # owed
®Y — HFE, 9 R URY, 7 e w9 1 98 F R wE F awwesm @
W TN W swgem B oW ¥ gw sfapi ¥ F owm fadmwm H s ® ow
faw fF wafarn ‘wrofa @ YR oW wAM GRS wHEE (1983) W
foaar TN TEE 9 uE & oufawm @E w1 omEvEeael W wwwhar fHA
fa1 admm W@ @1 wEw W qm wen| o =g fawm F A owed #@
‘F w5 FEE iR ARy, uE o mefe # w7 § weErn T ued # o i
fowmy & araia, QEfes, S, wEefa # qhe wJa fawm § fEhe
FoAr ¥1 S Feaed THY - TEN T Alh- &6 w1 I S

| A, IS, TwEE AR SNE ® waism s g9 cifel e deene &

T.B.C. : 77/156/ET—B 25 P.T.O.



The MOEF is the nodal Ministry in the GOI for planning, promotion, co-
ordination and overseeing the implementation of India’s environmental and
forestry policies and programmes. While implementing them, the Ministry
' is guided by the principle of sustainable development and enhancement
of human well-being. The Ministry is also the apex body in the country
for the implementation of United Nations Environment Programme (UNEP)
and all multilateral Environmental Agreements. Some of the important
protocols/conventions to which India is a signatory are—Ramesar Convention
on Wetlands (1971), Vienna Convention for Protection of the Ozone Layer

(1985), Rbtterdam Convention on impact of hazardous chemicals (1998).
41. Indian tradition’s ideology of conservation is :

(A) Careful use of a resource,

,
.

(B) Preservation and repair of archaeological, historical and cultural sites

and artifacts.
(C) All forms of life are interlinked and interdependent.

(D) Preservation of wildlife to maintain ecological balance.

T.B.C. : 7715/ET—B 26



Faraa & e & f&ag GOl # MOEF ww Hres o= 81 39 9 2
F FHE HAEwE w1 gy famm F fagrdl o wma few @ gfs & ogm
wrfefifs @ s ¥ d93w % wwiEo dww (UNEP) 3 aft smmfvdss
wfadt & Fras # o 2 6 owe weem o wid e R s el
wugia g o wie v wmaTEal ¥ SR—-smiyf w T JmeE (1971),
s A # e # faw famrnm wmwien (1985), WEAE WEA B AWE

W Ieg wEgE (1998) ¥
41, YREE ST #1 sfgarg 9 faEwem ¥

(A) Ed = FEYE 8 3TEm

(B) wuaeta, tfawmfys ot wiepfes wosi o foes awail &1 gean el

-
() R & |t ¥ oavw § {2 ¥ @ ouw g @ el ¥

M) witfeafast dgem 5t F@W wa % fau g=iEl s e

T.B.C. : T7/15/ET—B 27 P.T.O.



42. Three pillars of sustainable development are ‘care and respect’ for :
(A) People, Planet and Prosperity.
(B) People, Planet and Policy.
(C) Preservation, Prosperity and Planet.
(D) Conservation, Management and Development.

43. What has caught the attention of central-gtate governments and also public-

private sectors for sustainable development ?
(A) Because it disconcern may lead to imbalance of ecosystem.

(B) Because it encompasses a variety of schemes in social, technological,
environmental and human resources segment.
w

(C) Because it is making it§ entry in almost every discussion on

environment.

(D) Because it is a global issue and India is a signatory to conventions

related with it.

T.B.C. : 7T715/ET—B 28



42. yoig fawm & 99 =W ‘Tmwe e et ¥ o
(A) @, 7% 3 wyfg & fou
(B) m,%mﬁﬁ%m
(C) ww, gufz 3R W & fau
(D) e, v @ fawm & foau
43, wnvig fawm & fau F%-U9 SEE oR aw-frel @6 @ sam s R
@ 2
(A) FifE THH e ¥ wias Egfed & dwa ¥

(B) #Eife o wrwifes, Weifres, wafamia ik wre #@m e = fabe

A
(C) FHifs yad sae W fEE=n # 9% 3| ot 8

(D) wifF 27 Affas UEE § 99 YRG 39 e F guEE 4 weasd o

T.B.C. : 7T715/ET—B 29 P.T.O.



44.

45.

The

(A)

(B)

(C)

(D)

(A)

(B)

(C)

(D)

basis of the MOEF is :

Implementation of UNEP and all multilateral Environmental

Agreements.

Planning, co-ordination and overseeing the implementation of India’s

environmental and forestry policies and programmes.
Handling of sustainable development related issues.

Principle of sustainable development and enhancement of human

well-being.
concept of conservation :
has existed over centuries,

has arisen past Industrial Reyolution due to immense environmental
. ~|

degradation.

has been implemented in varied protocols after the emergence of

sustainable development ideology.

is concern with well-being of all forms of life.

T.B.C. : 7715/ET—B 30



44. MOEF &1 28R ¥ :

(A) UNEP 3 ul agufvds gafervia gfem = o=

(B) 9 & WAEIY 3R 99 Aiaal iR g &1 e, a9ed e e

FaEg

() unvia fawm | Tty 536l &1 Y=o

(D) s fTFm & g or ovE fadl &) azm

45. HIEM H UHETT

A) wafed ¥ sfer B %

(B) =&l "1 | WHiE0iy S9Ee & FR0 SN F AR A g

(C) uvirg fawm #1 fTarem F @ # @ fafy=s gowl § smif=m

I

(D) IE aq & I w9 % fedi 9 gafag T

T.B.C. : 7715/ET—B 31 - P.T.0.



Directions (Q. Nos. 46 to 50) :

Read the following passage carefully and answer the questions 48 to 50 by

marking the correct option :

May 22 marked the International Day for Biodiversity, which denotes the
variability of ' life forms on earth, india is one of the 12 mega-biodiversity
centres in the world. Out of the Sixteen Biosphere Reserves designated.
nationally, 7 Biosphere Reserves have been included in the World Network
of Biogphere Reserves so far. Global warming and climate changes pose
threats to plant and animal species as many organisms are sensitive to
carbon dioxide concentration in the atmosphere. It may lead to their
disappearance. Pesticides and industrial pollutants also degrade natural
ecosystems. Poaching is a cause of major concern as it leads to massive
reduction in headcount of certa'_in..c_gnimals especially the Tiger, Elephant,
Rhinoceros ete. In addition, inﬁ)ia is also home to world’s two most
ecologically threatened spots i.e. Eastern Himalayas and Western Ghats.
The Prime Minister of India released the National Act.ion. Plant on Climate
Change (NAPCC) on 30th June, 2008. The Plan proposes to start 8 missions

promoting deployment, innovation and basic research in renewable energy

T.B.C. : 7716/ET—B 32



freer (wyvw ¥&= 46 H 50 9F) -

frefefas v <1 AEyFAl ¥ gige o wd faFeg 999 3¢ W99 T8 46 9 50

W%Tﬁ'{m:

22 W ¥ Hafufawa &1 sl Rem wamn & ogel w fafaw sites-
T w1 FEw @ ¥ oy, fava ® 12 wenefafaum = 4 A ¥
mEE ¥Y OH difgm 16 Slawvew wifwa &3 6, 7 Samves dem 4,
fava Fza5 dem 43 # ¥ Afves s dn Semg ofEds F owmw
UeY § § dNadl % 68 §%e Y91 8 T § Wit Afuem e agEvsd
4w ITeEEES E AnW @ Fae ¥ 9% 3R oW ¥R gea €1 9ew-
W PR st wmEs o Tehe e w fage ww@ & fier 9@
w0l ww fe = fawm ¢ Tl w fm weEd; 99 R oam, o, e
anfe =t e # @2t A A wA ot ¥ IEE yoen wa # fava & @
HFgW e @, gE feuer sfn ufvendt ae §) A # weEoEE 3 30

[, 2008 % SeEr Taad W %A SEEe (TEAE.) ® faaes Fa
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technologies. In alignment, the Union Budget 2010-11 announced the setting
up of National Clean Energy Fund (NCEF) for funding R&D in clean
technologies. The National Green Tribunal Bill, 2010 was passed by the
Lok Sabha in May, paving the way for establishment of a Green Tribunal
for effective and expeditious disposal of cases related to environment,
conservation of forests and natural resources. This bill is meant to replace
the National Environment Appellate Authority (NEAA) Act, 1997 and
National Environmental Tribunal (NET) Act, 1995 which basically were
set up to review administrative decisions on Environment Impact Assessment
(EIA). The tribunal will hear all disputes relating to Water Act of 1974,
the Water Cess Act of 1977, the Forest Conservation Act of 1980, the Air
Act of 1981, the Environment Protection Act of 1986, the Public Liability
Insurance Act of 1991 and The Biological Diversity Act of 2002. This is
a historic step and is first of its kind in the world. With Public Interest
Litigations Insurance Act of 1991 and Biological Diversity Act of 2002.
This is a historic step and is first of its kind in the world. With Public
Interest Litigations (PILS) on environmental issues flooding the courts, the
proposed legislation aims to take off the pressure by handling the eivil

cases related to forestry and environment.
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ar; 39 A H uRFEeE # N, FdEw Sel g § e e
s W A 8 frdl # ey w0 W wEE R W @ 3 W oA
2010-11 I == = danE § vy v faem # fau el @ W
wvz (NCEF) & wafaww, a9 § wigfas &l & w8 et fawd
& gt ofn IvgE IvER @ fog w F A wa g U= @R e
fam 2010 # wRE =y F T H o) ge faw wdE e daics
s sfufem (NEAA) 1997 3l Tedig wgfarw =iy (NET) sifufan
(NET) 1995 &1 T @m S Ja &9 # vafEig d@@g geass (EIA) W
woEtTE R & qEdE @ far e T 3 T e @ Sfatre
1991, ¥ ST afuf@Ey 1997, a7 Taw sfufm 1980, arg afuf@s 1981,
ot wam sfufEm 1986, @F wfge A sfufEm 1991 SR SfEw
fafae afufm 2002 ¥ wafsa feadl W fam w=3m) 78 oF AfaEEs
Fen % o fava § TR WE W Ve FAW ¥ wHEolr fawm W A
fer wweR (PILS) =rerdi & oma ¥, ata: wemfom fasm et R waiE

B wafs o fawd #) gveEt, 3 W 9T A w9 w1 # 3evd 2
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46.  Global warming and climate change are threats to life forms because of -
(A) Increasing CO, concentration in the atmosphere
(B) Possible disappearance in future
(C) Degrading natural ecosystems
(D) Phote oxidation of crop plants

47.  All civil cases related to forestry and environment are being handled

under :

(A) The Environment Protection Act (1986)
(B) The Forest Conservation Act (1980)
(C) Public Liability Insurance Act (1991)
(D) National Green Tribunal Bill (2010)

.
»

48. How many mega-biodiversity' centres have so far been identified in the

world ?
(A) 16 (B) 7
(C) 12 D) 22
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46.

47.

fvas o 2 weEy ofEds e w9 F fag e ¥ owfE
(A) aauEd § CO, #1 W agdl o W ¥

(B) Wi # 9% @ArG ¥A ® H9ET ¥

(C) wfasw T faga & ©®

(D) wEa Wed # yEmelEEET o W ¥

Ffs it gafere ¥ gafya Wit a5 s sraa @9 9 ¥ 7
(A) TEfERw gran afafEm (1986)

(B) = wiam wfafem (1980)

(©) @ gifae #m afufm (1991)

M) T fm =i faw (2010)

fava § 3@ % feay WeNefatayd ® 3% 90 ™ € 7

(A) 16 (B) 7

(C) 12 (D) 22
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49.

50.

Which of the following environmental factors is not a cause of concern for

the disappearance of plants and animals 7
(A) Carbon dioxide (B) Pesticides
(C) Poaching (D} Thunderstorms

Basic research in renewable energy technologies is proposed to be encouraged

through :

(A) National Clean Energy Fund

(B) National Environmental Tribunal

(C) World Network of Biosphere Reserves

(D) National Actions Plan on Climate change

Directions (Q. Nos. 51 to 55) :

Read the following passage carefully and answer the questions 51 to 55 by

marking the correct option :

The establishment of a Departmenf of Health Research (DHR) in the Mimistry
of Health is recognition by the Government of India of the key role that
health research should play in the nation. This decision was preceded by
the Report of India's National Commission on Macroeconomics and Health

(NCMH) which builds a strong case for investing in indigenous research
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49. frefaraa § 4 F99 S@EEE FRE UGS AT Swei & FqEfa w5 s
T E?

(A) WA EEHFEES (B) drgsE
(C) TrFR-Ird (D) g
50. Fdrhtoig el drefiet § snuryg vy &1 diegeA fEed gwarfag 2
(A) TS = Fel FIs
(B) W=E TAETUIE TSI
(C) SrEwvza Wiga & #1 foava Jeas
(D) wearg wREdd W U wrE A
frder (v de 51 | 55 ) ¢

Frafafas sy € gy | 9fge s af fAeey 990 70 999 9291 51 9 55

TF & I SieT :

WY e & S @ iy faum w9 WER 7 9%
dwet g @} owmwem wiw w1 ouw vl yfie s T =g

g ol =1 9 #1 g9gq A9 oiR W W W #HYE (NCMH) &
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TBE: :

and encouraging Indian companies and universities in partnership to engage
in R&D for drugs, medical devices and vaccines relevant to the needs of
India’s poor. For developing a culture for research, the Report suggests
that the Government should initiate steps to de-bureaucratize procedures,
introduce greater transparency, provide incentives and adequate flexibilities
to enable engaging and retaining the best minds to undertake research—
both in public and private universities and research institutions. The
weakness of the publicly funded health structures and the research
infrastructure is a key limiting factor in realizing the full benefits of this
commitment to research. The fact that the almost 300 medical colleges
in the country are not contributing their best to health research is
highlighted by the fact that in 2007, 96% of the research publications
in India emanated from 9 medical colleges. Much of this published
research is not on priority he_a.lﬂ; concerns and the translation of key
research findings into policy, which could improve the health of the people,
is very limited and needs to be enhanced. Epidemiological know-how,
surveillance technology and diagnostic services which are essential for
determining health priorities are very poorly developed. With the launch
of National Rural Health Mission (NRHM) and the proposed National Urban

77165/ET—B 40



yfeden gy fea e s cw ovw A fRdw & fawdl @ wiwmen s
¢ i Wy weiEl R favalgmedl W owmm @ omE &7 smavesaEER
iy, fafean weml oin G =1 wiier # fou v @ fawm § e
¥ Iy #F fou wF A fTEtea w0 3 fou vfaae 3 o omme A e
TER H awwed ufEms f ogura e 9w, 3w umefdfa @, don
3, wE H owmE R & oy adiend ok w9 e favataared v
dgE SH A oWy ® faw Iww @l B T afeu g @ HJeEi
it Ty # emurym WS W oFH W F % W ooy wn § uw weeEyy
ufEm ¥ 9 gw § W W B amm 300 fefEom weiameE vt med s
W 9y F dEm A w w E W 5 9w aw R 2007 6 v @
96% wEwE 9 fafeen wafeaed & fee sfowm wwiva Wy 54 =wa
fwdl = i & T a st Ww @Rl W A F W e T, W
P F e F R N TEHA ©, 9% 9g utea ¥ ol 3@ e it yavaEa
1 S Qe 1 w, e e s fom e s s ame
% Fuftor % fou @ga waves ¥, 3 @50 o0 fawfaw &1 o< oriw @res
fagt (NRHM) & i &7 | it wearfas asfte m @mes favm (NUHM)

| Aifg R G w1 oy AR 33 & fau avdwm afifd goge w5
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Health Mission (NUHM), the enhancement of the above described
infrastructure to provide the evidence base fer policy and programme becomes
a critical issue. There is also a compelling need to build multidisciplinary
research, blending physical, medical and social sciences. Besides, there is
also and equal urgency to establish regulations, strict ethical standards
of research. Such capacity is necessary for undertaking operational research
as also large-scale evaluation of diagnostics and trials of drugs, devices

of both modern and traditional systems of medicine.
51. The flaw in medical research in India is :
(A) Lack of fund
(B) Research is not on priority health concerns
(C) Less number of researchers
(D) Less number of institutions
52.  Multidisciplinary research in India is :
(A) Simultaneous support given to research in more than one discipline
(B) Carrying out research in more than one discipline
(C) Implementation of salient features of one discipline into another

(D) Theoretical and experimental research
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Tomd uF wiow faom ¥ agfawas wiy o ifees, fafrem o wmmeifaar
F fremt & €t mEvaEa ¥ R saEn FEE @ s, WY § Fan
Hifows A T F O age sEwew ) U s, wfEen Wy
% fou smves ¥ 3R 92 W W odmfud @ wlaw, fem el sfma =

weprE fafeen & wvdl @ gediea St dEvEea & fou 9w %)
51. wra & fafwen § @0 <m0 ¥ 2

(A) wus (Ff) =1 e

(B) ¥iu aigm & ey fawdl w b

(C) !ﬂﬂaﬁiﬁvﬁaﬁmd@l

(D) Exarl #1 F9 9=
52, A # wgfasdt wiyg .

(A) F J v fawdl § vig & fou v w9 wema 3 2

(B) ww A wiyw fawdi § vy w1 #

() ww fawa & gEa mewi F ogw fawm # FEitEe s ¥

(D) Tgfas @in wafms vy 2
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53.

b4.

85.

The chief purpose of de-bureaucratizing procedures of medical research :
(A) Making research work more feasible

(B) To develop a culture for research

(C) To set strict ethical norms

(D) Evaluation of diagnostics

To invest in indigehous research and initiate partnership of Indian companies

and universities for research purpose :
(A) NRHM was launched

(B) NUHM was proposed

(C) Trade liberalization was initiated
(D) DHR was set up

It is necessary to undertake operational research as large scale evaluation

of diagnostics and trial of drugs, devices of traditional systems of medicine.

Possible solution to this issue is : =
(A) Establishment of multidisciplinary research

(B) Initiate partnership of companies and universities
(C) Strengthen community medicine programmes

(D) Modernization of public health centres
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53.

55.

fafem MY F1 AFEEE TEAS T FEAW B T OTET WA €
(A) e ® HfUE WA T

(B) ¥y % fou w@de

(C) =an Hifgws Fawi = =

(D) Frert 1 e

ot oy § Py o oy @ fon it s o favafaed] w5t arierd &
gy & feg .

(A) NRHM wio f&an m o
(B) NUHM wrRw™ f&an wn @
(C) wWR WA AT & T
(D) DHR =A™ =

frm sl s whem, siwfy 31 yommR womfedl & WA $ 95 W 9 e
& w=y § oftaeE Ty wed 31 29 fqey W wufem wEE T

(A) =Efawas w9 H T
(B) =wufyEl i favafaowd & wrigdl #1 3H
(C) @eE dAmfy demel w1 A

(D) 7% @ d= @ AT
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56.

57.

58.

59.

60.

The most drought-prone state in India is :

(A) Gujrat (B) Rajasthan

(C) Andhra fradesh (D) West Bengal

What part of the earth’s surface is covered with water ?

(A) 173 (B) 1/4

(C) 122 (D) 3/4

Which types of forests are found near the equator ?

(A) Deciduous forests (B) Tropical forests

(C) Conifeto;xs forests (D) Grassland

Cauvery water dispute is between :

(A) India and Pakistan (B) Punjab and Haryana.
LW

(C) Karnataka and Tamil Nadu (D) Uttar Pradesh and Bihar

Which bird is a symbol of ‘Bombay Natural History Society’ ?

(A) Hornbill (B) Egret

(C) Spoonbill (D) Sun bird
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56.

57.

58.

59.

60.

T.B.C. :

yia H wEd afas gEn-vad U9 see w2

(A) =R (B) YT
(C)mwéﬂ (D) ufesdt =ms
YA F GaE F fwaw W W & w1 B 2

(A) 1/3 (B) 1/4

(C) 1/2 (D) 34

g T % wEg R weR @ a9l e ¥ 2

(A) THHE T (B) Somehfeasia =
(C) wuE == (D) =\ 4y

Fal 9o faaw feas &9 & 2

(A) WrE 3R Wi (B) Yo 3w siEmm
(C) #Flew oI afgemrg . . (D) W Wew A fan

‘At e feRdl dWewd’ @ wdie us wm ¥ 2

(A) EHEfE= (s99) (B) wWHZ (=en)
(C) wEfas (ag=mas) D) ¥ &2 (g4 us)
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